SIETREEERERETRI08EFEFE "2 HAREZREEITSE [BEHRK]

I g IS BRITRBE-SA2R
o | |15 = |t nEmEsnEms
7; 16| M |+ - N\EREIREHTE ; J\ER Svss FRERE(ES - 6 8) ; ARBE T 8) ; SCEPSHE
Bl [7] B[
Y P e S RH
| [ eremmnmermrnsns  eanennmmns BB
22| = 801
t|23|\ |t T 801 * 904(25%)
24| 1 802 ~ 904(25%)
27| — |\ hEgEnmEng 904(43% - 115)
28| Z |FE4mPI(09:40F8%8) ; mBE L BWH= 801 - 904(45% ~ 115%)
29| = |mEsIEHE 801
0|m|gxsrEnE 802
31| B |BxmhEnE 802
3 | — [8/3-8/75MBHE A BEEI(SHER) LEY
4 | = |8/3-8/7 5 NBEBI(EAERK) 803
5 | = [8/3-8/75 MM EABEEI(ESHER) 803
6 | M [8/3-8/75 MM ABEEI(EAER) L EH
7 | 7 [8/3-8/75m8 5 = ABEEI(SHER) 901
10| — [8/10-8/121& i x££l (08:00-12:00) 901
11| — |8/10-8/121& s BxEs £l (08:00-12:00) 902
12| = [8/10-8/121& i x££l (08:00-12:00) 902
13| M0 [8/13-8/14 Fitcth BB TE T HEPUH | (X —R) 903
N La| 7 [B713-8/14 B RMSBILRE (RPN, )\ NERBBRELR ; RELS TAERE, RRAMER |,
mERs
17| — [miFEss 0 B8E 802
18| ~ [miFEsme 0 BHE 803 - 903
; 19| = [MiREE O EHE ; 8/10-8/21 B ERERIE (R LED) 803 - 903
?? 20| [ |8/19-8/21 B L EIEF 2 (4R LER) 901
- 21| 71 18/19-8/21 B X EBF 2 (AR L1E:R) 901
N 24| — 902
25| 902
(1] [26]=|m=n

MERITIRIRBERN L8 | 00EBHEERT ;
*RERTIRANSE -

11 : OOREARNS - FETERBEER -

FARBRBH - BRITFI/NESIARBSERE -




